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 期权介绍 

 

 



 期权的价值来源 

 

 





 期权的定价方式 

 



 

𝐶 = 𝑆𝑁(𝑑1) − 𝑋ⅇ
−𝑟𝑡𝑁(𝑑2)

𝑃 = 𝑋ⅇ−𝑟𝑡𝑁(−𝑑2) − 𝑆𝑁(−𝑑1)

𝑑1 =
𝑙𝑛(𝑆 𝐾⁄ ) + (𝑟 − 𝜎

2

2⁄ ) 𝑇

𝜎√𝑇

𝑑2 =
𝑙𝑛(𝑆 𝐾⁄ ) + (𝑟 − 𝜎

2

2⁄ )𝑇

𝜎√𝑇



 

 波动率特性 



 波动率分类 

 波动率套利原理 





 

 模型介绍 

 

𝑦𝑡 = 𝛽𝑥𝑡 + 𝜀𝑡

𝑦𝑡 𝑥𝑡 𝜀𝑡

𝜀𝑡
2

{
 
 

 
 
𝜀𝑡
2 = 𝛼0 + 𝛼1𝜀𝑡−1

2 +⋯+ 𝛼𝑞𝜀𝑡−𝑞
2 + 𝜂𝑡

𝛼0 > 0

𝛼𝑖 ≥ 0,∑𝛼𝑖

𝑞

𝑖=1

< 1 𝑖 = 1,… , 𝑞

𝜂𝑡



𝛼𝑖

ℎ𝑡 𝛼𝑖

𝜀𝑡−𝑞
2

 

𝜀𝑡
2

{
 
 
 
 

 
 
 
 
𝜀𝑡
2 = 𝛼0 + 𝛼1𝜀𝑡−1

2 +⋯+ 𝛼𝑞𝜀𝑡−𝑞
2 + 𝛽1𝜎𝑡−1

2 +⋯+ 𝛽𝑝𝜎𝑡−𝑝
2 + 𝜂𝑡

𝛼0 > 0

𝛼𝑖 ≥ 0,∑𝛼𝑖

𝑞

𝑖=1

< 1, 𝑖 = 1, … , 𝑞

𝛽𝑗 ≥ 0,∑𝛽𝑗

𝑝

𝑗=1

< 1, 𝑗 = 1,… , 𝑝

𝜂𝑡

𝛼𝑖 𝛽𝑗



 模型构建 

 

 

 

 

 

 

𝑟𝑡 = 𝑙𝑛(𝑃𝑡) − 𝑙𝑛(𝑃𝑡−1) 𝑃𝑡



1.6 × 10−26

 

𝜀𝑡

𝜀𝑡
2 10−19~10−6



 

 GARCH模型建立 

模型阶层 AIC 指标 BIC 指标 

1，1 -3841.87 -3772.15 

1，2 -3847.67 -3772.97 

2，1 -3833.86 -3759.15 

2，2 -3846.29 -3766.61 



 

𝑦𝑡 = 0.001792 − 0.009697𝑎1 + 0.047321𝑎2 + 0.026676𝑎3 − 0.050590𝑎4 + 0.038114𝑎5

+ 0.019494𝑎6 − 0.001467𝑎7 + 0.011871𝑎8 − 0.026352𝑎9 + 0.066676𝑎10

𝜎𝑡
2 = 0.000184 + 0.050095𝛼𝑡−1

2 + 0.049995𝛼𝑡−2
2 + 0.799920𝜎𝑡−1

2

 



 

 







 

 

 


